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INSTRUCTIONS TO CANDIDATES

* Do not open this examination paper until instructed to do so.

¢ Section A: answer the questions on three of the passages. The three passages should be selected
from two prescribed topics only.

¢ Section B: answer one question.
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SECTION A

[30 marks]

Answer the questions on three of the passages. The three passages should be selected from two prescribed

topics only.

1. The Homeric epic:

(@)

2205-2952

Homer Odyssey 21.221-41

(1)

(i)

(iii)

(iv)

*Qs elmwv pakea peydAns dmoépyaler odAis.
T & émel elodéry € T eppacoavro EkaoTa,
k\afoy dp’ au’ *Odvoiji dalgpove xeipe BaAdvre,
kal kUveoy dyamalopevor kepalny e kal Gpovs.
&s & alrws 'Odvoeds kedalds kal yeipas ékvooe.
kaf vd K ddvpopévotry v pdos Hellowo,

bl \ D by 3\ b3 / 4 4

el 1 "Odvooevs avros €pikake Ppovnoér Te

“ maveoclor khavBuoto ydoud Te, wf Tis OnTAL

éleNbav peyd arap elmnot kal elo
peydpoto, 4rap elmnot kal elow.

dANG mpopvnarivor éoéNfere, puyd Gua wdrTes,

~ bl 4 b Y ¥ 3 ~ I3 -~ ’
TpDTOS €Yy®, meTd O Dppest arap T6de ohua Tervxbw:
dANov pev yhp mwdavres, 8oor prnoTipes dyavol,

k] 3/ 3 \ 4 by LS /
otk éacovaw éuol dduevar Bov §d& Papérpnu:
d\Aa av, 37 Edpate, pépwr &ra ddpara mdlov
év xelpecow éuol Oéuevar, elmely Te yvrarfl
kAnioar peydpoto Bipas mwukwds dpapvias,

oy 5! A ~ 7y s 14 8 r) ’
nv O€ Tis i oTovaxis ne krvwov évdor dkoven
dvdpdy nuerépotoriy v Epkeay, pi TL Bipale
wpofAdokew, AN abTod akir Euerar mapd épyw.
ool 3¢é, ilolrie dle, Bipas émréAopar avAijs
kAnioar kKAidL, Gods & émi Beopov ljAar.”

Name one of the men to whom Odysseus has been speaking. What do they

see in line 221 and what is its significance?

Translate kal v & - - d)évno'f'v T€* (lines 226-7).

Scan lines 230-1 &AAG wpopvnoTivol . . .ofjua Tervxbw:,

What two problems does Odysseus anticipate in lines 232-41

(&AAot pev yap . . . deapov inAat)? How does he plan to overcome

them?

225

230

235

240

[2 marks]

[2 marks]

[2 marks]

[4 marks]



-3- MO05/2/GREEK/HP2/ENG/TZ0/XX+

(b) Homer Odyssey 22.170-93

Tov & édmapeBdpevos mpooédn moAdunris "Odvoaeds: 170
“ o1 éyw kal TyAépayos prnoriipas dyavovs
oxfooper &vrooler peydpoy, pdla TEp pepadTAS®
opdi & dmooTpéfravre wddas kal xetpas Umepfev
és Bahapor Baléew, gavidas & éxdijoar dmole,
oepny 8¢ wAexTy €€ alrob mepivavre 175
kior’ av’ WmAny éploar meldoar Te dokoloLy,
ds kev dnba (wos éxy xaléw dAyea wdoxn.”

‘Qs épald’, of & apa Tob pdha pev kAdov 3O émifovro,
Bav & Yuev és Oahapov, Nabérny &8¢ pw Evdov édvra.
1 7ot 6 pev faddpoio puxov kdra Tevxe épedva, 180
T & &orrav éxdrepfe mapa orabuolol pévorre,
€00’ vmep ovdov €Bawe Mehdvbios, almdlos alydv,
T érépn pev xepl Gépwv kaAy Tpupddetar
fi érépp pev xepl ép i Tpupddetar,
L 3 e/ ! Y r
™™ O érépn odkes elpy yépov, memakaypcvor &ln,
Aaépren fipwos, 6 kovpl{wr popéeake 185
& Tdre Y 70y ketro, padai &’ ENéAvrro ipndvTv:
T & ap ématéavd éNéryy, épuodv Té pw elow
kovpté, &v daméde B¢ xapal Bdhov dxvipevor xijp,
obr 8¢ mddas xelpds Te déov Oupalydéi deopd

t
€0 paX\’ dmoaTpéfravre diapmepés, Gs exéAevoer 190
vids Aaéprao, molUtAas dlos *Odvooeds:
A \ Y 3 k) ~ 4

ocepn d¢ mhekmyr &£ alrod meypravre
klov’ av’ WmAyr puoar mélacdy Te dokolot.

(i)  According to lines 171-7 (““7) 7ot éya. . .&Ayea 71'!3’&0‘)(37.”), who
would be fought by Odysseus and Telemachus, and who would be arrested
by the swineherd and the oxherd.

(i) What characteristic feature of Homeric epic is exemplified by lines
175-6 (ocetpny d¢. . . mehdoatr T€ dokolotw) and 192-3
(O'GLp’;?v d¢ . . .méhaodr Te 00Ko01ot)? Against whom is its savagery
directed, and why?

(i) Scan lines 178-9 (“Qs épal’. . édvra),

(iv) Explain the pathos of lines 184-6 (Tﬁ i é’re’pp. .. E}L(iv‘f'wv). What,
in your opinion, is its probable effect upon the hearer or reader?

2205-2952

[2 marks]

[3 marks]

[2 marks]

[3 marks]

Turn over



2.  Greek Tragedy:

(@)

2205-2952
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Euripides Medea 338-56

(i)

(iii)
(iv)

What was Medea pleading for immediately before this passage? What

Mn.

Kp.

Mn.

’ 3 3 ~nNY C Id ~ ~
pevéovped’s ov 1000’ ikérevoa ool TUXEV.

4 \ 4 ki 3 14 Lo
7{ dal Bialy kolk amaANdooy) Xe€pos;

’ ~ 4 * < 4 340
piay pe pewar ™rd Eacov nuépav
kal fvpmepavar ppovrid 1 pevfovpeba,
mawotly T adopuny Tols éuols, émel warnp
ovdev wpoTiud pnxerioacar Tékvocs.

14 3 3 4 b 4 \
oiktipe O adrovst kal od Tor maldwy mwarnp
mépukast elkos & eotiv ebvowar o éxew. 345

3 el N »” s bl 4
Toduob yap ot pot ppovris, el Pevéovueba,
Kkelvovs ¢ kAalw cuppopa kexpnpévovs.

fkioTa Toduoy AK€y Tuparvikoy,
aldodpevos 8¢ moAAa &7 diépbopar
kal viv dpé pév fapaprivey, yival, 350
Buws 3¢ Tevén Tobde mpovvvémw 3¢ o,

» ¢ ~ ~ » ~
€l o’ 7 ‘moboa Aaumas oyerar Geod
kal watdas évros THede Tepudvwr xbovds,

~ ’ ~ 3 A 14
Bavj /\e)\sxlral, pibos ax[rfvﬁnf ?56,. ,

~ 3 ~ I'd 3
viv &, el pévew 3el, pipy’ ¢’ Huépay plav+ 355

b ! ! \ o ’ ¥y ¥
ot yap 7L dpacels Oewor Gv GoBos p €Xet.

does she ask for now?

Scan lines 340-1 (pulav pe petvar. . ¢pevéoiueba).

Translate olkTipe & adrovs. ..o &xew (lines 344-5).

Choose two passages from the extract which might persuade an audience
to sympathize with Medea less and with Creon more, showing how they

do so.

[2 marks]

[2 marks]

[2 marks]

[4 marks]
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(b) Euripides Medea 609-26

[3 b ~ ~ 4 hy I'e
lo.  Gs ob kpwodpar TGYE oot Ta wAelova.
b b » 4 \ b ~ ~
AN, €l 7o BovAn moiow 7 cavrys q)vyy 610
TporodéAnua xpnudrer udy AaPety,
S 3 L4 ¢ b r’ ~ X
Aéy’s s érowpos aPpbovey dolrar xept
3 [l
Eévors Te wéumew ovpPoX’, ol dpdooval o €.
kal Tavra py Bélovoa pwpavets, yivar
Miéara & pyijs kepdavels dueivova. 615
My, obr’ av &évoist Tolol cols xpnoaluetd dv,
ovr’ dv Tu defalpeata, und Huiv dldov
kakoD yap dvdpos d&p’ Svnow odk Exet.
9 3 L bl hY \ 4 4
T AN’ olv éyw pév daipovas papripopat,
bs mard Smovpyely ool Te kal Tékvors §éw+ 620
ool & odk apéoker Taydd, AN’ aibadia
Ppihovs dmwlf Torydp dAyvwfi mAéov.
Mn.  xdperr mle yap Ths veoduqrov Kdpys
atpfi xpoviwr dwpdrwy éfdmios.
vipper’ lows ydp—aoiv 0ep & elpfoera— 625
yapels TootTov dore o dpreiocfar yapov.

(i) What was Jason’s main argument in the passage leading up to this

extract? [2 marks]
(i) Translate kai Tadra. . .duelvova (lines 614-5). [2 marks]
(iii) Scan lines 619-20 (GAN’ ofv éyw. . . Téxkvors GéAw), [2 marks]

(iv) What two contrasting outcomes are Jason and Medea trying to achieve in
this extract? Justify your answer with one quotation from each of them. [4 marks]

2205-2952 Turn over
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3.  Aristophanes’ Comedy:

(a) Aristophanes Wasps 650-67

2205-2952

®

(i)
(iii)

(iv)

A Y A ~ A \ ’ i) L)
yaXemov peév kal Sewdjs yvouns kai peloves 7w

Tpuywdois 650
3/’ / 3> 7 3 ~ 4 k) -~
{doacbar véoov dpyaiav év T midel évTeTokviav.
3 4 T 7 ¢ 7’ /8
ardp, & mdrep fuérepe Kpovidn—
madoar kai pi) moarépile.
2 A 4 o 4 3 A 1 I 8 8 ’
el p1) ydp, Srws Sovdevw yd, Toutl Taxéws pe Siddfets,
~ 4 3
ovKk éoTw Smws ovxi Tebwmjoel, kdv ypf} omAdyyvwv w
654

3 /.
améyealas.
3 4 ! ol ’ 4 3y 7 v !
axpdaoai vuv, & mamidiov, yaddoas oAiyov TO wETwmov.
kal TpdTOV pev Adyioar davdws, pm Yrjdois dAN’ dmo
YELPOS, 656
Tov pdpov Nuiv dmo TGv wodewy cuAMBANY TV mpogidvTa,
kdéw TovToU TA TéAY Ywpls Kal Tas moAdas ékaToaTds,
mpuraveia, puéralX’, dyopds, Apévas, pebdoers, dnued-
7Tp(1.7'(1‘
7’ 4 / > 3 \ 7 I3 < ~
ToUTwv whjpwpa TdAavt’ éyyvs Sioyida ylyverar uiv.
dmo TovTov vwv kardfes polov Toior Sikacrals éviav-
70D, 661
-~ 7 3
&€ yhdow—""kotimw mlelovs év 7)) xpg karévaclher’:
ylyveras Huiv éxarov Sfmov kal wevtiikovTa TdAavTa.
~ - 3 7 /
008’ 1) Sexdrn TV TpooLdVTwWY Yuiv dp’ éylyvell ¢ pabos.
A ry 3 7
pa A o0 pévror.
-~ 14
kal mol Tpémeran 8N ‘meta Ta ypripaTe TaAAa; 005
és TovTous Tovs “odyl mpoddiow Tév Abnvalwy kodoaupTdy,

dAda payodpar wept Tod whijlovs ael’”.

pellovos % ’mt Tpvywdols (line 650). Explain the humour of this

phrase. [2 marks]
Translate €l u1 ydp. . .améyeafar lines 653-4). [2 marks]
Identify four of the taxes and sources of revenue listed in lines 658-9

(k¢ 0{5 w ToUTOV, . Sn,u,zé?'rpara), explaining the Greek term in each case. [4 marks]
What point is Bdelycleon trying to make in this passage. [2 marks]
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(b) Aristophanes Wasps 849-68
oipot, Swarpifeis kamolels Tpumuepdv.
€yw & dloxilew édeduny o ywplov. 850
tdov.
KdaAeL vuv,
Tabra 8.
r (3 \
7is ovTool
0 TPp@DTOS €0TW;
3 ré € ¥
és kopakas. s dybouar,
oTv) *medalouny Tovs kadiokovs éxdépew. 853
obros oU, ol Oeis;

j o, | 14
émi kadlokovs.
pndauds:
? \ A 5 4 \) 3 I 855
€yw yap elyov Tovade Tods apuaTiyovs.

kdAMoTa Tolvov. wdvTa yap mdpeoTt VOV
oowv deduelfa—mAiy ye 67 7hs kAeyidpas.
701 8é &%) Tis orw; oUyl kAeyidpa;
o Y £ bl \ 3 I4
eb y’ ekmopileis avTd kdmiywplws.
alX’ s TaytoTa wip Tis feveyrdTw 860
kai pvppivas kat Tov MPavwrov évdolev,
[ N A ] /’ -~ ~ ~
onws dv evédpeclo mpdra Tols Beols.

Kal pmy Nueis

émi Tals amovdals kal Tais evyals

Pripny ayalny Aéopev duiv, 865
o1t yevvaiws éx Tod morépov

kal Tof velkovs EvvéByTov.

edpnulia pev mpdra viv dmapyérw.

(1)  Describe the general context of this passage.
(ii) Translate kdAAioTa Tolvuv. . .kAeyidpas (lines 856-7).

(i11) Scan lines 859-60 (e 'y’ e’!cfn'opfgets. . _e’feve'ykci'rw),

(iv) Explain two examples of humour to be found in this passage?

2205-2952

[2 marks]

[2 marks]

[2 marks]

[4 marks]

Turn over



- 8- MO05/2/GREEK/HP2/ENG/TZ0/XX+

4. Herodotus and the beginnings of history:

(@)

2205-2952

Herodotus 1.26.2-27.2

(1)

(i)

(iii)

(iv)

&vla &) ol ’Epéaiot moltopkedpevol vm alrol dvébecav v
’ ~ 3 /4 b XadlA 3 ~ n 3 A\
woAw 7§ "Apréuidi, éfayavres ék Tod vnob oxowlor és 1o
~ ¥ N\ \ ~ ~ r A ’
Teixos. &ori d¢ perald Tis Te walaujs mOAwos, 1 TdTE
émoltopkéero, kal Tob vnod émra orddiot. wWpWTOLTL pEv BN
~ 3 o
rovroiot énexetpnae 6 Kpoloos, pera d¢ év pépei éxdoroiot
[dvov Te kol Aloléwv, aXdowrt dM\has airios émpépwy,
TOV pév édvvaro pélovas wapevpiokew, uéfova émairic-
pevos, Tolot O¢ alTdy kai padla empépwr. @s d¢ dpa ol
b ~n 3 /, [/ nl 4 h] ’ bl U4
év 7fi "Acly "EAAqres kateaTpagaro és Ppopov amaywyiv,
by ~ ’ 4 ~
70 évlelrer émevdee véas momodpevos émyepéew Tolot
oo vty 8¢ ol mavTev érolpwy és THY wavmi-
I € \ 'y / ’ \ 14 ) s 3
yir, ol pév Biavra Aeyovor tov Ilpumpéa amikopevor és
Sapdis, of 8¢ Ilirraxdy Tér Muriknraiov, elpopévov Kpoi-
oov € 7L €l vedrepor wepl THr ‘EAAdda, elmdvra Tdde
karawadoar Ty vavmyyiny.

15

20

25

How, according to Herodotus, did the Ephesians attempt to protect their
city? Were they successful?

Translate @s 8¢ dpa of év 7§ *Acly. .. mmoidmyo (lines 19-22).

of pev Bilavra. . Muri\nralov (lines 23-4). What do these words
suggest about Herodotus’ method as an historian?

elmdvra TAde (line 25). What do Bias or Pittakos go on to say? How
does the incident end?

[3 marks]

[2 marks]

[2 marks]

[3 marks]



(b)
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Herodotus 1.86.1-3

(1)

(i)

(iii)
(iv)

Oi 8¢ Ilépoar Tas e O Sdpdis &oxov kal adrdy Kpoloov
e(dypnoay, dpfavra érea TeooepeTkaidexa Kal TeToeper-
kaidexa fuépas moAiopknOévra, katd TO XpnoTiply Te
kaTaravoarra Ty éwvrod peydAny dpxnv. AafBdvres 8¢ av-
\ 3 ’ 3 N ~ < \ 4 Y
Tov ot [lépaar nyayor mapa Kdpov. 6 8¢ ovwmjoas wupny
peyakny arveBiBace émw admiy Tov Kpolody te év médno
dedepévor kal dis émta Avddy map’ adrov waidas, év vée
S ¥ \ 3 7 ~ ~ ~ e’ /7 »
éxwy €ite On akpobivia Tabra karayiely Oedy o0Tew O, €ite
kal evxnw émreéaar OéNwy, elre kal mvlduevos Tov Kpoloov
elval Beooef3éa Tolde elvekev dveBiBace éml v mypiy, Bov-
’ 134 ¥ / ’ (304 n A ~
Adpevos €idévar el Tis pw daiudvov pioerat ol py (Grra
karakavfiivar.  Tov pev Y modew radra, Td & Kpolow
éoTedTt €éml Tis wupns éoelbelv, kalmep v kakd édvri

TOOOUT®, TO TOD XJA bs ol €ln oiv 0ed elpnué

0, Zohwvos, ds ol €ln obv 0ed elpnuévor,
0 undéva eivar 1ér (wortTwr SABwr. s d¢ apa pw
npocaTivar Tobro, dveveikdperdy Te kal dvacrevdfavra éx
ToAATs fovxins és Tpls dropdaar ‘ Tohwy’.

eite 07 akpodivia. . .katakovdijvar (lines 8-12). What three
possible reasons does Herodotus’ give to explain Cyrus’ actions?

10

15

kata 10 Xpnoripwy e (line3). What had the oracle said? How
was its fulfilment remarkable?

Translate @s 0& dpa piv. . .dvoudoatr  Tohwy’ (lines 15-17).

What had Solon said and done to explain why Croesus was thinking of him
now?

[3 marks]

[3 marks]

[2 marks]

[2 marks]

Turn over
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5. Socrates portrayed by Plato:

(a) Plato Apology 21e2-22b5

Mera ravr obv 70y épelis fa, alobavduevos uev
Avmotpevos kal dediws v dmnyBavduny, Suws d¢ dvaykatov
3 7 4 - \ ~ ~ \ rd ~ L Y 4
€dokelr etvar 170 ToU Oeol mepl mAeioTov motelofar—Iireor
oly, okomodvre Tov xpnopor t{ Aéyel, éml dmwavras Tovs Tt
dokolrras eldévaw.  kal 1) TOV kiva, @ avdpes *Abnvaior— 5
det yap wpos vuas TaAndn Aéyew—n uny éyw Emaldv T

~ . [4 b ! 3 ~ s ! ¥\ 7
Towobror: oi per pdaliora evdokiuotvres €dofdy pov SAlyov
detv Tob wAeloTov évdeels elvar (nrodvri kara ToU Oedy,
aAhot O¢ Bdokobures davAorepor émieikéorepor elvar dvdpes
\ ~ \ ~

wpos 10 ¢Ppovipws Exew. et d Vv Ty éuqw wAdvmr 10
émdeifar domep movovs Twas movodvros (va por kal dv-
é\eykros 1) pavrela yévoiro.  perd yap ToUs mOMTIKOUS 7)o
éml Tovs wouTas ToUs TE TOY Tpaywddr kal Tovs TGV
dfvpduBwy kal Tovs dANovs, s évradfa ér alroddpe

4 p] A b] é 3 l{ 1 ) 15
kaTaAnrdueros éuavrov duabéorepor éxkelvwy Svra. dva-
AapBdver olv adrdy Td moujpara & por éddker pdAioTa
mempayparedofalr adrols, dmpdrov &v avlrovs T( Aéyoen,

e 3 ¢f A\ ! 3 3 o~
i apa 11 kal pavbavouyur wap avrdwv.

(i)  Avmodpevos kal dedwws (line 2). What are these two emotions? What
has caused Socrates to be afflicted by them? [3 marks]

(i) okomobyre Tov xpnopov v{ Aéyer (line 4). What had the oracle

claimed about Socrates? How did he attempt to test its truth? [2 marks]
(iii) Translate deb &) Uutv. . .pavreia yévorro (lines 10-12). [2 marks]

(iv) dmpdrwv av adrovs T Aéyowev (line 17). What did Socrates
hope to learn from reading the poets’ works? What did he in fact learn? [3 marks]

2205-2952
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(b) Plato Apology 36d4-37b1

i olv mpémel avdpl wévnTL edepyér
7p pl mévn pyémn
hY ~ b
deopbve dyew oxolyy éml T Tpuerépg mapakelevoer; olk
00’ 8ri paddov, & dvdpes *Abnvaiol, mpémer olrws Gs Tov
~ A ) 3 7 ~ / ~ A
TotolTor avdpa év wpuraveip oireicfat, oAU ye pallov 1)
~ A A
el Tis vudy Irme 1 cvvwplde 7 {ebyer veviknker *OAvumia- 5
< \ ~ e ~ s -~ 3 N N\
ow* 0 per yap tuds moiel eddaipovas dokely elval, €y d&
elvai, kal 6 pev Tpoils oldev detrar, éyw ¢ déopar. €l
olv det pe kard 70 dlkawov tijs aflas Tywacbar, ToUTOV
Tudpat, év mpuravely ouroews.

Tows ody Juiv kal Tavri Aéywr mapaminoios dokéd Aéyew 10
domep mepl 1o olkrov kal Ths dvriBoljoews, dmavfadi(d-
pevos 70 0 ovk &oTw, & dvdpes *Alnvaiot, TolodTor AAAG
T010vde palkov. TmémelTpal éy® ékov ear undéva adikelv
arbpdmwy, AL uds Tolro ob melbw: JAlyov yap xpdvov

/ € o 5 ~,
&AMfrois dienéyueta.  émel, Gs éyduar, €l v duiv vdpos, 15
domep kal dAAois dvlpdmois, mepl Oavarov un wlay Huépav
povoy kpivew AANL woAAds, émelolnre dv-

(i) T olv 7rp€’7'r€r, (line 1). In what context is Socrates asking this question?
What is his reply? In what spirit is his answer likely to be received? [3 marks]

(i) Trmo % ocvwwplde ) (ebyet (line 5). Explain what is referred to by
any two of these terms. [2 marks]

(iii)) 6 per yap vuas. . déopar (lines 6-7). For what two reasons does
Socrates argue that he, rather than the others mentioned, should be
rewarded? [2 marks]

(iv) Translate mémelopar éyd ékav. . . diethéyueda (lines 13-15).
Why does Socrates mention oA {yor xpo’vov ? [3 marks]

2205-2952 Turn over
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SECTION B [10 marks]
Answer one question from this section.

6.  Take one incident from the /liad and another from the Odyssey and explain in detail why each has
made a powerful impression on you.

7.  ‘Women in Greek tragedies are rarely, if ever, stereotypes.” Discuss this view in the light of any two
of the tragedies you have studied.

8. ‘A curious mixture of slapstick and social and political satire.” Discuss this judgement in the light of
two Aristophanic plays you have studied.

9.  ‘Herodotus’ account of Croesus’ life is designed more to preach morality than to record history.” Do
you agree? Justify your opinion.

10. What, in your opinion, are the features of Socrates’ character that emerge from any two of the
Apology, the Euthyphro and the Phaedo to guarantee his continuing fame?

2205-2952



